
0618018101473a 

 
 
 

 

 

 

Montážní návod – Montážny návod 
Jonava IV – montáž rámečku/rámčeka 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 

 

 
 

 

 
 

 

 
 

 
 
 
 
 

 

Pozice Číslo zboží Množství Název Názov 

1 
0618018110073 

1 Rámeček/černá Rámček/čierna 

2 4 Šroub M5x12 Skrutka M5x12 

1 
0618018100073 

1 Rámeček/černý smalt Rámček/čierny smalt 

2 4 Šroub M5x12 Skrutka M5x12 


